Question No : 1 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

ASCI stands for

Answer | Please select your correct option )

Amencan Standard Code for Information Interchange

L8]
COrect

Amencan Standard Code for Internet Information
P

Amencan Standard Code for Interchangmg Information
C

All Standard Codes for Information Interchange
-~

Weade By: Weager Siddhu




Question No : 2 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

The extended ASCIT has

-

Answer | Please select your correct option )

&4 characters
8]
128 characters
P
256 characters
c -
COIrect
502 characters
(-. -
Weade By: Weager Siddhu




Question No : 3 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

To reserve 8-bits in memory directive is used

-

Answer | Please select your correct option )

o correct
: Wade By: Wagdr Siddhu




Question No : 4 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

“When the RET instruction is executed, it recovers the wvalue of mstruction peinter from the

Answer | Please select your correct option )

Regster
Stack
COrrect
Data segment
Code segment
Weade By: Weager Siddhu




Question No : 5 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

The execution of the instruction “mov word [ES : DI], 0z0720"

Answer | Please select your correct option )

will clear next character on screen

: COIreck

will print “207 at top left of the screen

P
will prmt “20” on top nght of the screen
P
will move DI at location 0720 on the screen
P

Weade By: Weager Siddhu




Question No : 6 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

which bit sets the character "blinking” on the screen?

Answer | Please select your correct option )

T
: COrrect
8
: Wade By: Wagdr Siddhu




Question No : 7 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

To transfer control back, the RET instruction takes

-

Answer | Please select your correct option )

o

2 arguments

3 arguments

4 arguments

No arguments

COrrect

Weade By: Weager Siddhu




Question No : § of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

“When a very large number is divided by very small number so that the quotient is larger than the space provided then

Answer | Please select your correct option )

Cuotient will take an extra byte to be stored
(o)

Cruotient will not be stored anywhere and mstruction will be skipped
~

An mterrupt will be generated and the program will be termmated
I

Cuotient will be divided again until it fits the space provided
-~

=
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Question No : 9 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

Each screen location cotresponds to a word, the lower byte of this word contains

Answer | Please select your correct option )

The character code
O .y
correct
The attribute byte
P
The parameters
I
The dimensions
(-. -
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Question Mo : 10 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

The execution of the instruction “mev word [ES : 160], 0x1230" will print character “07 on the screen | the color of the character “07 will be

Answer | Please select your correct option )

c COrrect
: Wade By: Wagdr Siddhu




Question Mo : 11 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

In A4FB4ET2 Segmentoffset pair the physical address is (both segment and offset are in hexadecimal):

Answer | Please select your correct option )

‘ correct
: Wade By: Wagdr Siddhu




Question No : 12 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

TWhich of the following flags will be affected by MOVSE?

-

Answer | Please select your correct option )

G
[z
I
ep——
c hade By: Wagear Siddhu




Question Mo : 13 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

“When the operand of DTV instruction is of 16 bits then implied dividend will be stored in =

Answer | Please select your correct option )

The concatenation of DS and B3
o

. correct

The concatenation of ES and A%

The concatenation of D3 and A%
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Question Mo : 14 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

The execution of the instruction “mev word [ES @ 160], 0x1230" will print character “07 on the screen |, the Background color will be

Answer | Please select your correct option )

c COrrect hade By: Wagar Siddhu




Question Mo : 15 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

“When a 16 bit number is divided by 8 bit number, the quotient will be stored in

Answer | Please select your correct option )

’ correct
‘ Made By: Wagear Siddha




Question No : 16 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

The bits of the work independently and individually

-

Answer | Please select your correct option )

Index register
o]

Base register

Flags register

COrreck

Accumulator register
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Question Mo : 17 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

Al possible types of Jumps in assembly language are:

Answer | Please select your correct option )

short, far
o

short, near

short, near, far
‘ correct

shott, near, far, long
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Question No : 18 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

The first possible segment base value is

-

Answer | Please select your correct option )

’ correct
: Wade By: Wagdr Siddhu




Question Mo : 19 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

Code Segment is associated to register by default

Answer | Please select your correct option )

z COrrect
: Wade By: Wagdr Siddhu




Question Mo : 20 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

TWhich bit of the Attribute Byte (Counting from right to left, starting from 0) represents the GEEEN component of foreground color?

Answer | Please select your correct option )

g
e
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Marks: 2 (Budgeted Time 4 Min) (=)

-

Question No : 21 of 26

“Why BP (Base Pointer) default segment is S5 {(Stack Segment)?

Answer | Please click here to Add Answer |

- == A e R . R A i S R ||

|Nurmal ;”Ar\al L||12 LI B 7 O Hgg ==

YWeade By: Wedgear Siddhu




Marks: 2 (Budgeted Time 4 Min) (=)

-

Question No : 22 of 26

“Interrupts are asynchronous™ What does it mean?

Answer | Please click here to Add Answer |

- == A e R . R A i S R ||

|Nurmal ;”Ar\al L||12 LI B 7 O Hgg ==

YWeade By: Wedgear Siddhu




Question Mo : 23 of 26 Marks: 3 (Budgeted Time 6 Min) (=)

-

“What are the results after performing the following instructions, where ax = 00110011 and bz = 00010001
1.and ax bx

2.or axbx

3.xor ax,bx

Answer | Please click here to Add Answer |

D& eae]o o6 0a R s
Juiarmal I | =z =ie g H‘EE

. YWeade By: Wedgear Siddhu




Question Mo : 24 of 26 Marks: 3 (Budgeted Time 6 Min) (=)

-

“What is the working of Screen Screlling program and write the name of the most important instruction used in that program?

Answer | Please click here to Add Answer |

D& eae]o o6 0a R s
Juiarmal I | =z =ie g H‘EE

. YWeade By: Wedgear Siddhu




Marks: 5 (Budgeted Time 10 Min) =]

-

Question No : 25 of 26

TWrite an assembly language program that display Zero (03 on the whole DOS screen

Answer | Please click here to Add Answer |

- == A e R . R A i S R ||

i

=] [2ri | B (e =

|Nurmal
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Marks: 5 (Budgeted Time 10 Min) =]

-

Question No : 26 of 26

TWrite an assembly language program that clears the computer screen

Answer | Please click here to Add Answer |

- == A e R . R A i S R ||
;”Ar\al L”"? | H‘E_ i

[Tl
]
i

|Nurmal

YWeade By: Wedgear Siddhu






